This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 12 - Annandale East and Eskdale

4,360

3

1,091

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Karen CARRUTHERS	Scottish Conservative and Unionist	1,290
Archie DRYBURGH	Scottish Labour Party	638
Denis MALE		721
Sylvia MOFFAT	Scottish National Party (SNP)	454
Craig PEACOCK	Independent	513
Ronnie TAIT	Scottish Conservative and Unionist	744
	Total	4,360

Candidate Karen CARRUTHERS Elected with 1,290 votes, being in excess of the quota of 1,091

This report contains the transfers results.

Stage 2 - Surplus of Karen CARRUTHERS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen CARRUTHERS	0	0.00000	0.00000
Transfer to Archie DRYBURGH	91	0.15426	14.03766
Transfer to Denis MALE	74	0.15426	11.41524
Transfer to Sylvia MOFFAT	12	0.15426	1.85112
Transfer to Craig PEACOCK	105	0.15426	16.19730
Transfer to Ronnie TAIT	891	0.15426	137.44566
Value of non-transferable ballot papers			18.05302
	Total		199.00000

This report contains the transfers results.

Stage 3 - Exclusion of Sylvia MOFFAT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen CARRUTHERS	0	0.00000	0.00000
Transfer to Archie DRYBURGH	2	0.15426	0.30852
Transfer to Archie DRYBURGH	124	1.00000	124.00000
Transfer to Denis MALE	1	0.15426	0.15426
Transfer to Denis MALE	77	1.00000	77.00000
Transfer to Craig PEACOCK	2	0.15426	0.30852
Transfer to Craig PEACOCK	101	1.00000	101.00000
Transfer to Ronnie TAIT	5	0.15426	0.77130
Transfer to Ronnie TAIT	19	1.00000	19.00000
Value of non-transferable ballot papers			133.30852
	Total		455.85112

This report contains the transfers results.

Stage 4 - Exclusion of Craig PEACOCK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen CARRUTHERS	0	0.00000	0.00000
Transfer to Archie DRYBURGH	22	0.15426	3.39372
Transfer to Archie DRYBURGH	250	1.00000	250.00000
Transfer to Denis MALE	22	0.15426	3.39372
Transfer to Denis MALE	122	1.00000	122.00000
Transfer to Sylvia MOFFAT	0	0.00000	0.00000
Transfer to Ronnie TAIT	37	0.15426	5.70762
Transfer to Ronnie TAIT	77	1.00000	77.00000
Value of non-transferable ballot papers			169.01076
	Total		630.50582

This report contains the transfers results.

Stage 5 - Exclusion of Denis MALE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen CARRUTHERS	0	0.00000	0.00000
Transfer to Archie DRYBURGH	15	0.15426	2.31390
Transfer to Archie DRYBURGH	330	1.00000	330.00000
Transfer to Sylvia MOFFAT	0	0.00000	0.00000
Transfer to Craig PEACOCK	0	0.00000	0.00000
Transfer to Ronnie TAIT	42	0.15426	6.47892
Transfer to Ronnie TAIT	276	1.00000	276.00000
Value of non-transferable ballot papers			320.17040
	Total		934.96322